
   

Nordic
 

Montageanleitung
Installation instruction

GARDENTOP

R1-99969 / 13-04-2021 / Rev. 26-04-2023 



2

× 12
K3-08001
Ø12 x 60

× 12
K3-06070
Ø10 x 60

× 14
K3-02045
M10×25

× 14
K3-03051
M10

× 8
K3-04198
Ø10

× 2
K3-04110
Ø10

× 12
K3-06269
Ø6 x 35

× 1
K1-41430

× 1
K1-41930

× 2
K2-41900

× 2
K1-41940

× 1
K1-41911

× 1
K1-41910

× 4
K3-05022
M8 x 20

× 12
K3-04010
Ø10,5

   

1 7 5

40 41 42 43 44 45

1068015
2 8

Starter-Set
Start kit

646359

6

× 4
K3-02045
M10 x 25

× 4
K3-03051
M10

× 4
K3-04198
Ø10

× 6
K3-06269
Ø6 x 35

× 1
K1-41920

× 1
K1-41921

   

3 40 42 43

59

1068016
4

Ergänzungs-Set
1 step kit

× 1
K1-41060

× 1
K1-41061

× 2
K3-06269
Ø6 x 35

× 2
K3-02045
M10 x 25

× 2
K3-03051
M10

× 2
K3-04099
Ø10

× 2
K3-02386
M8 x 40

× 2
K3-03047
M8

If more 
than 6 steps:

Add 
9  + 10

Wenn mehr
als 6 Stufen:

9  + 10
hinzufügen

Max. 6 Satz | sets

Stufen-Winkel
Step support 1 step

   

1068020
5840 43

59 61 65

9 10



3

× 12
K3-08001
Ø12 x 60

× 12
K3-06070
Ø10 x 60

× 14
K3-02045
M10×25

× 14
K3-03051
M10

× 8
K3-04198
Ø10

× 2
K3-04110
Ø10

× 12
K3-06269
Ø6 x 35

× 1
K1-41430

× 1
K1-41930

× 2
K2-41900

× 2
K1-41940

× 1
K1-41911

× 1
K1-41910

× 4
K3-05022
M8 x 20

× 12
K3-04010
Ø10,5

   

1 7 5

40 41 42 43 44 45

1068015
2 8

Starter-Set
Start kit

646359

6

× 4
K3-02045
M10 x 25

× 4
K3-03051
M10

× 4
K3-04198
Ø10

× 6
K3-06269
Ø6 x 35

× 1
K1-41920

× 1
K1-41921

   

3 40 42 43

59

1068016
4

Ergänzungs-Set
1 step kit

× 1
K1-41060

× 1
K1-41061

× 2
K3-06269
Ø6 x 35

× 2
K3-02045
M10 x 25

× 2
K3-03051
M10

× 2
K3-04099
Ø10

× 2
K3-02386
M8 x 40

× 2
K3-03047
M8

If more 
than 6 steps:

Add 
9  + 10

Wenn mehr
als 6 Stufen:

9  + 10
hinzufügen

Max. 6 Satz | sets

Stufen-Winkel
Step support 1 step

   

1068020
5840 43

59 61 65

9 10

x 1
K7-75392

x 1
K2-75360

x 2
K3-06302
Ø4 x 20

x 12
K3-02375
M10 x 75

x 1
K7-75392

21b

22

23

24

72
x 16
K3-02290
M6 x 25

x 1
K2-75367

x 1
K2-75368

x 15
K2-75282

x 2
K2-75363

21a

22

23

24

x 10
K3-02290
M6 x 25

x 2
K2-75362

x 1
K2-75367

x 1
K2-75368

x 3
K2-75282

72

70

71

20

1075360

Staircase post
Treppenpfosten

1075282 Banister filling 2 steps
Geländerfüllingen 2 Stufen

Banister filling 3 steps
Geländerfüllingen 3 Stufen1075283



4

× 1
K1-41950

× 1
K1-41955

× 1
K1-41956

× 1
K3-08002
Ø8 x 40

× 1
K3-04110
Ø10

× 1
K3-06032
Ø6 x 60

× 1
K3-02375
M10 x 75

× 1
K3-03051
M10

× 2
K3-05007
M5 x 5

24 26 43 52

Unterstützung
Support1068098 OPTION
27 41

54 5553

 800mm  25mm 

x 1
K1-75380

 70mm 

 35mm 

Handläufe / Handrail

97

28

x 2
K3-02316
M8 x 16

x 2
K3-02336
M8 x 40

x 2
K3-02305
M8 x 50

x 4
K1-75390

x 4
K1-75391
38mm

x 2
K3-02313
M8 x 12

x 2
K1-75392
62mm

x 2
K3-02307
M8 x 75

x 2
K3-02306
M8 x 60

x 4
K1-75390

76 80 82 83 91

K7-75391

84 8975 91

K7-75392

81

× 1
K1-41950

× 1
K1-41955

× 1
K1-41956

× 1
K3-08002
Ø8 x 40

× 1
K3-04110
Ø10

× 1
K3-06032
Ø6 x 60

× 1
K3-02375
M10 x 75

× 1
K3-03051
M10

× 2
K3-05007
M5 x 5

24 26 43 52

Unterstützung
Support1068098 OPTION
27 41

54 5553



5

× 1
K1-41950

× 1
K1-41955

× 1
K1-41956

× 1
K3-08002
Ø8 x 40

× 1
K3-04110
Ø10

× 1
K3-06032
Ø6 x 60

× 1
K3-02375
M10 x 75

× 1
K3-03051
M10

× 2
K3-05007
M5 x 5

24 26 43 52

Unterstützung
Support1068098 OPTION
27 41

54 5553

 H 

 S  S 

 H 

 S min. 180mm
max. 220mm

   

 H 
 S 

 H 

 S 

   

   

 H 
 S 

 H 

 S 

   

   

 800mm  25mm 

x 1
K1-75380

 70mm 

 35mm 

Handläufe / Handrail

97

28

x 2
K3-02316
M8 x 16

x 2
K3-02336
M8 x 40

x 2
K3-02305
M8 x 50

x 4
K1-75390

x 4
K1-75391
38mm

x 2
K3-02313
M8 x 12

x 2
K1-75392
62mm

x 2
K3-02307
M8 x 75

x 2
K3-02306
M8 x 60

x 4
K1-75390

76 80 82 83 91

K7-75391

84 8975 91

K7-75392

81

× 1
K1-41950

× 1
K1-41955

× 1
K1-41956

× 1
K3-08002
Ø8 x 40

× 1
K3-04110
Ø10

× 1
K3-06032
Ø6 x 60

× 1
K3-02375
M10 x 75

× 1
K3-03051
M10

× 2
K3-05007
M5 x 5

24 26 43 52

Unterstützung
Support1068098 OPTION
27 41

54 5553



6

1 2

3

4

5

6

7

8

11

12

13

14

109

15

   



7

1 2

3

4

5

6

7

8

11

12

13

14

109

15

   

9

42
43

65
43

3

20

71

43

41

6

1

40
63

9
43

42

43
65

40

3

   

1 2

3 4



8

42

43

3

20

71

3

42

43

40

42
43

65
43

9

7

40

43

42

5

71

20

   

5 6

7

8



9

42

43

3

20

71

3

42

43

40

42
43

65
43

9

7

40

43

42

5

71

20

   

5 6

7

8
9

42
43

65
43

40

43

41

6

2

40

63

9
43

42

43
65

40

4

   

9 10

11 12



10

4

42

43

40

42
43

65
43

9

8

40

43
42

5

40

   

13

14 15



11

4

42

43

40

42
43

65
43

9

8

40

43
42

5

40

   

13

14 15

 W 

 W 

63

63

Stufe / Step W

80 cm 803 mm
100 cm 1003 mm

   

   

16



12

 W 

 W 

× 3

× 3
Concrete

Beton
40 × 40 × 80 cm

   

   

17



13

 W 

 W 

× 3

× 3
Concrete

Beton
40 × 40 × 80 cm

   

   

17

 W 

 W 

 W 

B

45

44

64

45

44

64

   

   

18



14

U

10 x
6 x 35 

Pan head Torx

59

 B 

 ½ B  ½ B 

U

19

20



15

U

10 x
6 x 35 

Pan head Torx

59

 B 

 ½ B  ½ B 

U

19

20

97

A

2 x 
 3mm 
 15mm

70

72

22

24

2321b21a

   

21

22



16

 X 

 X 
 X 

A

8291 91 802876/83

8191

91

83

80

28

 X 

28

 X 

  16mm  

  50mm  
83

76

X
76
83

   

23



17

 X 

 X 
 X 

A

8291 91 802876/83

8191

91

83

80

28

 X 

28

 X 

  16mm  

  50mm  
83

76

X
76
83

   

23

 W 

Concrete
Beton
40 x 40 x 80 cm

We recommend 
using a support 

column from 8 treads 
and if W = 100 cm

Ab 8 Stufen und W = 
100 cm empfehlen 
wir eine Abstützung 

der Treppe 

We recommend using a 
support column from 9 
treads

   


